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1. Problem

Determine the spectrum
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∫
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s(t) e−jωt dt

of the linearly frequency modulated pulse
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You may use the Fresnel integrals
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to represent your result.



2. Problem

In the following an unmodulated train of pulses

s(t) =
+∞
∑

k=−∞

sP(t − kT )

is considered.

a) Discuss the range ambiguity based on typical properties of pulse trains.

b) Determine the spectrum

S(ω) =

+∞
∫

−∞

s(t) e−jωt dt

of the unmodulated pulse train as a function of the spectrum

SP(ω) =

+∞
∫

−∞

sP(t) ejωt dt

of the basis pulse sP(t) and the period T .

c) Discuss the velocity ambiguity based on typical properties of spectra of pulse
trains.
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